Push/Pull paddle latch HARDWOOD *

Installation instruction

Fasteners:
2pcs #8 X 3/4”  Combination Screws
4pcs 1/4” -20X2-1/2”  Pan Head Machine Screws
4pcs 1/4” -20 Hex Lock Nuts
4pcs #8-32%3/8”  Flat Head Machine Screws

Mounting method:

\

>

/

1. Installation of Latch Bolt:
Slide latch bolt into the edge of the door
Adjust latch bolt so slope faces towards door frame
Secure latch bolt in door with (two) #8 X 3/4” combination screws

www.hardwooddesignstudio.com 1



2. Determine Orientation and Handing of paddle

The paddle can be mounted vertically or horizontally before installing chassis to door, make sure spring
orientation is correct.

Horizontal Mounting Vertical Mounting
PUSH /
(4) Thru Bolt (4) Thru Bolt PUSH PULL

Spring

ROTATE HUB 180° Chassis
BEFORE ASSEMBLY
TO CHANGE HAND
PULL
(4) Thru Bolt PUSH

Chassis Chassis

To change from PUSH to PULL orientation, chassis will need to be turned 180° and paddle installed in
the correct direction

PUSH PULL
L‘ 'Jﬂ lﬁ h (' 'J B
PADDLES PADDLES
PULL PUSH HORIZONTAL HORIZONTAL
PADDLES PADDLES PADDLES WITH 7" WITH5"OR7"
UP DOWN MIXED BACKSET BACKSET

NOTE: Chassis is packed with paddle attached

3. Installation of Chassis
Check handing of chassis before installing
mounting screws
Insert the (four) %4"-20 x 2 15" Pan Head
Machine Screws through the outside chassis,
and inside chassis then secure with (four)
4"-20 Hex Lock Nuts
Do not tighten fully at this point
Level chassis
Tighten thru bolt screws (4) Bolts & Hex Nuts

www.hardwooddesignstudio.com 2



Installation of Covers

Slide cover over paddle and align with mounting holes Install cover screws

o Fe]

5. Preparation of Frame

Mark centerline of latch bolt on frame
Center strike and mark screw positions

Mortise to required strike and box depth

Strike-1
ST Yo',
n 7¢7
N ?8, _ 7{%&7 —~

2 3/4"‘ 17F.. 7749/64" T

hillips Head
r Screws

Frame
15"Door
Thickness

Edge of Stop ¢
(or Silencer) __ ¥l

HARDWOOD ®

|~
L~
B Ya"
Strike-2 _ ,::izgﬂ;nd,,
F3/32.J | !
T <1t
o ,,@ |
\
3/16" i~
TJ
4 7/8" 1 1/4n 3 3/8"
N |
PEVRR RV
| _
4 ,@ |
|
[ S |

(2) #¥12-24 Screw '

www.hardwooddesignstudio.com

) 1‘/4"4 5/g" e



Note:

If smoke seal, weather stripping, acoustical material or silencers are used on the door or frame, be sure that they do not
interfere with the ease in which the latch bolt engages into the strike.

! 33/" |
Caution: ; 111/6" ‘ (85.7) ;
Office copiers, printers and facsimile machines N (42.9) R L
. . / ‘ \ //’ T S~ /l \
may change the size of a drawing and make the -~ - doe e e G
. \ _
template inaccurate to use as a door marker. - // 1 \\ [ 7
S N
| I/ | \\ (22) |
| ! | Vol
U S —— I o S B 2 B
1. Select required backset: 2-3/4”, 57 1 ] i 7 1 13/
or7” | \ | J | (44.5)
2. Fold on dashed line. ; \ 1 / ;
3. Place fold on low edge of bevel. Rl \\\ \ // RN
4. Line up centerlines. 7‘(i/4 I N~ *I D - ‘L\j:)f T
5. Center punch all holes. ! T !
6. Drill holes. (For hollow metal 23 1
. 4
doors, do not drill thru. Center punch (70 mm) g2 >/16"
. . |
& drill holes from both sides of door.) Backset o (54) (8)
| Thru Thru
| (four Places)
|
\
|
\
FOLD LINE [
777777777777777777 kfifififififififf
|
\
|
\
|
|
|
SII ‘
(127 mm) ;
Backset |
\
|
\
|
\
B I FOLDLNE 0
T
|
\
|
|
|
\
|
7|| ‘
(178 mm) ;
Backset |
\
|
\
FOLD LINE [

www.hardwooddesignstudio.com 4



	Hospital latch P1
	Hospital latch P2
	Hospital latch P3
	Hospital latch P4

